**PAINTING** This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. PART 1 GENERAL 1.01 SECTION INCLUDES Surface preparation and field application of paints and coatings. Α. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Finish Materials: Conform to [applicable] [\_\_\_\_\_] code for Α. flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

### **PAINTING**

This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. PART 1 GENERAL 1.01 SECTION INCLUDES Α. Surface preparation and field application of paints and coatings. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Α. Finish Materials: Conform to [applicable] [ ] code for flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

### **PAINTING**

This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. PART 1 GENERAL 1.01 SECTION INCLUDES Α. Surface preparation and field application of paints and coatings. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Α. Finish Materials: Conform to [applicable] [\_\_\_\_\_] code for flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

### **PAINTING**

This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. \*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\* PART 1 GENERAL 1.01 SECTION INCLUDES A. Surface preparation and field application of paints and coatings. SYSTEM DESCRIPTION 1.02 Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Finish Materials: Conform to [applicable] [\_\_\_\_\_] code for Α. flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

PAINTING This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. \*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\* PART 1GENERAL 1.01 SECTION INCLUDES Surface preparation and field application of paints and coatings. Α. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Finish Materials: Conform to [applicable] [\_\_\_\_\_] code for Α. flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

### **PAINTING**

This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. \*\*\*\*\*\*\*\*\*\* PART 1 GENERAL 1.01 SECTION INCLUDES Α. Surface preparation and field application of paints and coatings. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Finish Materials: Conform to [applicable] [ \_\_\_\_\_] code for Α. flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this section or if proprietary specifying techniques are used.

#### **PAINTING**

This section includes preparing, priming, painting, staining, and applying finishes to surfaces scheduled at end of this section, including mechanical, electrical, and equipment finishing. Specifiers should be aware of regulatory restrictions on certain types or categories of paint materials. This section relies extensively on Section 01001. When a project requires more detailed specification statements, utilize SPECTEXT Section 09900 - Painting. \*\*\*\*\*\*\*\*\*\*\*\* PART 1GENERAL 1.01 SECTION INCLUDES A. Surface preparation and field application of paints and coatings. 1.02 SYSTEM DESCRIPTION Utilize this article primarily for performance specifying of systems; to identify the performance relationship between components and other systems, to specify design criteria, and system performance. Α. Finish Materials: Conform to [applicable] [\_\_\_\_\_] code for flame/smoke rating requirements. 1.03 SUBMITTALS Do not request submittals if drawings sufficiently describe the products of this

section or if proprietary specifying techniques are used.